1.5  Questions

Q1.
 
Explain one possible conflict that can exist between stakeholders of a business.
(3)
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 
(Total for question = 3 marks)
 


Q2.
 
Explain one possible objective of employees within a business.
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 
(Total for question = 3 marks)
 


Q3.
 
Answer the question with a cross in the box you think is correct [image: ]. If you change your mind about an answer, put a line through the box [image: ] and then mark your new answer with a cross [image: ].
Which one of the following best defines the term stakeholder?
Select one answer.
[image: ]   A    An owner of a private limited company
[image: ]   B    Someone with an interest in the success of a business
[image: ]   C    Any individual who takes decisions within a business
[image: ]   D    An individual who owns shares in a business
 
(Total for question = 1 mark)
 


Q4.
 
Answer the question with a cross in the box you think is correct [image: ]. If you change your mind about an answer, put a line through the box [image: ] and then mark your new answer with a cross [image: ].
Which two of the following are possible impacts on a small business of lower interest rates?
Select two answers.
[image: ]   A    Higher fixed costs
[image: ]   B    Lower insurance premiums
[image: ]   C    Customers more likely to purchase using credit
[image: ]   D    Lower costs of borrowing money
[image: ]   E    Increased variable costs due to higher loan repayments
 
(Total for question = 2 marks)
 


Q5.
 
Read the following extract carefully and then answer the question.
[image: ]
In 2012 Jerry and Shelley Lawson started a new business – Frog Bikes. The aim was to produce lightweight and affordable children's bikes. The company's bikes were designed for children using the latest technology. The bikes are produced in a Chinese factory and sold in the UK and other countries.
The business quickly became successful. By 2016 its bikes were sold in over 700 shops in the UK. It faces competitors such as JE James which sell similar bikes in the UK.
Frog Bikes uses social media to promote its bikes. Figure 2 shows a competition run on the Frog Bikes Twitter account. To enter the competition people needed to follow the business on Twitter.
As a manufacturer and retailer, Frog Bikes has to comply with a large amount of legislation. All bikes meet ISO (International Standards Office) standards. This ensures they are safe for children. Rules include the need for all bikes to be fitted with a chain guard, and for handlebars to be safety checked.
In 2016 Jerry and Shelley decided to increase production to meet the growing demand. They considered expanding the company's Chinese factory, or building a new factory in the UK.
[image: ]
(Source: adapted from http://startups.co.uk/startups-100/2016/8-frog-bikes/)
A retailer selling Frog Bikes bicycles has the following financial information for the month of April.
[image: ]
Analyse the impact on Frog Bikes of the legislation it has to comply with when producing and selling its bikes.
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 
(Total for question = 6 marks)
 


Q6.
 
Explain one benefit to employees of employment law.
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 
(Total for question = 3 marks)
 


Q7.
 
Look at Figures 1 and 2, read the extract carefully, then answer the question.
Analyse the impact on Meringue of allowing customers to order their food online in advance.
(6)
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 
(Total for question = 6 marks)
 


Q8.
 
Read the following extract carefully and then answer the question.
[image: ]
In 2012 Jerry and Shelley Lawson started a new business – Frog Bikes. The aim was to produce lightweight and affordable children's bikes. The company's bikes were designed for children using the latest technology. The bikes are produced in a Chinese factory and sold in the UK and other countries.
The business quickly became successful. By 2016 its bikes were sold in over 700 shops in the UK. It faces competitors such as JE James which sell similar bikes in the UK.
Frog Bikes uses social media to promote its bikes. Figure 2 shows a competition run on the Frog Bikes Twitter account. To enter the competition people needed to follow the business on Twitter.
As a manufacturer and retailer, Frog Bikes has to comply with a large amount of legislation. All bikes meet ISO (International Standards Office) standards. This ensures they are safe for children. Rules include the need for all bikes to be fitted with a chain guard, and for handlebars to be safety checked.
In 2016 Jerry and Shelley decided to increase production to meet the growing demand. They considered expanding the company's Chinese factory, or building a new factory in the UK.
[image: ]
(Source: adapted from http://startups.co.uk/startups-100/2016/8-frog-bikes/)
Analyse the impact on Frog Bikes of using social media to promote its products.
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 
(Total for question = 6 marks)
 


Q9.
 
Explain one benefit to a small business of using social media as a method of communicating with customers.
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 
(Total for question = 3 marks)
 


Q10.
 
Discuss the benefit to a business of using e-commerce.
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 
(Total for question = 6 marks)
 


Q11.
 
Read the following extract carefully and then answer the question.
[image: ]
Good and Proper Tea was founded in 2012 by Emilie Holmes. The business website states:
'We source our teas from around the world, from Kenya to India, Japan to China and many more places in between. It is important to us that we know exactly where each tea comes from and who is responsible for harvesting the leaves we buy. We will always share this information with our customers'.
The business started when Emilie converted an old Citroën van (pictured right) into a mobile brew bar. Emilie wanted to expand the business. To achieve this she needed finance.
She decided to raise finance using crowdfunding through the Kickstarter website. 372 individual backers each provided between £1 and £1000. Good and Proper Tea was launched. The first cup of tea was brewed and sold in Shoreditch, London, in 2012.
[image: ]
The success of the mobile business led Emilie to plan to open a shop selling the same high-quality teas. Once again she decided to use crowdfunding as her source of finance. This time, using the Crowdcube website, she successfully raised £140,000. The shop was opened in 2016 and is very successful.
As Good and Proper Tea imports its most important ingredient, it is affected by changes in the exchange rate. Recent changes in the value of the pound mean that its costs have increased.
(Source: adapted from http://www.stylist.co.uk/stylist-network/work-life/work-life-emilie-holmes-founder-good-and-proper-tea)
Outline one impact of changing levels of consumer incomes on Good and Proper Tea.
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 
(Total for question = 2 marks)
 


Q12.
 
Read the following extract carefully and then answer the question.
[image: ]
Good and Proper Tea was founded in 2012 by Emilie Holmes. The business website states:
'We source our teas from around the world, from Kenya to India, Japan to China and many more places in between. It is important to us that we know exactly where each tea comes from and who is responsible for harvesting the leaves we buy. We will always share this information with our customers'.
The business started when Emilie converted an old Citroën van (pictured right) into a mobile brew bar. Emilie wanted to expand the business. To achieve this she needed finance.
She decided to raise finance using crowdfunding through the Kickstarter website. 372 individual backers each provided between £1 and £1000. Good and Proper Tea was launched. The first cup of tea was brewed and sold in Shoreditch, London, in 2012.
[image: ]
The success of the mobile business led Emilie to plan to open a shop selling the same high-quality teas. Once again she decided to use crowdfunding as her source of finance. This time, using the Crowdcube website, she successfully raised £140,000. The shop was opened in 2016 and is very successful.
As Good and Proper Tea imports its most important ingredient, it is affected by changes in the exchange rate. Recent changes in the value of the pound mean that its costs have increased.
(Source: adapted from http://www.stylist.co.uk/stylist-network/work-life/work-life-emilie-holmes-founder-good-and-proper-tea)
To reduce the impact of its rising costs, Good and Proper Tea is considering two options:
Option 1: Buying cheaper ingredients from different suppliers.
Option 2: Charging higher prices for its tea.
Justify which one of these two options Good and Proper Tea should choose.
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 
(Total for question = 9 marks)
 


Q13.
 
Explain one impact on a small business of a reduction in government taxation.
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 
(Total for question = 3 marks)
 


Q14.
 
Erik Fairbairn started POD Point in 2009. Based in the UK, the business builds and supplies charging systems for electric cars. Erik felt that the demand for such cars was going to grow and saw a business opportunity. POD Point is a way of charging an electric car at home.
Sales were promising and the business decided to expand. In 2014 POD Point raised £1.5 million through the crowd funding site Seedrs. In 2017 it raised a further £1.5 million using CrowdCube website.
[image: ]
By 2017 the business had over 25,000 customers, many of whom are in other countries. For example, 20% of revenue comes from exports to Norway. The business is affected when the exchange rate changes.
The business uses market research data that suggests that the demand for electric cars will continue to rise. Figures 3 and 4 show examples of market research in the car industry.
[image: ]
(Source: adapted from http://startups.co.uk/the-entrepreneur-erik-fairbairn-pod-point/)
Figure 4 shows the market share of models of electric cars in selected European countries in 2016.
[image: ]
(Source: adapted from https://cleantechnica.com/2016/05/30/topelectric-cars-uk-norway-netherlands-germany-france/)
Figure 4
The UK economic climate is important for POD Point. It is considering two options to reduce the impact of falling UK consumer incomes on sales:
Option 1: Focus on selling to foreign customers.
Option 2: Cut costs of production.
Justify which one of these two options POD Point should choose.
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 
(Total for question = 9 marks)
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Question
number

Answer

Mark

‘Award 1 mark for identification of a possible confiict, plus 2
further marks for explaining why this conflict exists, up to a total
of 3 marks.

Conflict can exist between workers and owners (1). This is
because workers typically want more pay (1), whereas owners
often want to increase their profits (1).

Conflict can exist between owners and suppliers (1). This is
because suppliers want to be paid on time to preserve their cash
flow (1), but businesses want to retain cash as long as

possible (1).

Accept any other appropriate response. Answers that list more
than one conflict with no explanation will be awarded a maximum
of 1 mark.

3)





image13.jpeg
Question | Answer Mark
number
‘Award 1 mark for identification of an objective, plus 2 further 3)
marks for explaining this objective up to a total of 3 marks. AOla=1
Ao1b.

One objective is to earn a bonus (1) therefore the employee will
work harder (1). As a result, the business will have lower costs
per unit allowing the bonus to be paid (1).

Good working conditions (1) are important to employees as this
means they are able to do their job more effectively (1). As a
result of this they are able to achieve their appraisal or
performance targets (1).

Accept any other appropriate response. Answers that list more
than one objective with no explanation will be awarded a
maximum of 1 mark.
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«  The owners of Frog Bikes operate in a competitive market,
with rivals such as Halfords, and sticking to legislation will
reassure potential customers who are looking to buying a
child’s bike (AO2).

« By having to meet all safety requirement due to government
legislation, Frog Bikes’ costs will be higher than they would be
without such rules (A02).

«  This will mean that Frog Bikes will establish a strong
reputation with its market segments that will choose its bikes
knowing they have the latest safety features. This will
potentially lead to higher sales, which may lead to higher
profits if other costs do not increase due to implementing the
requirements of the legislation (AO3).

« Asa result of these higher costs, prices of its bikes may have
to rise. Prices for a small business like Frog Bikes are likely to
be higher than some of the larger producers. The price of the
bikes may be more important than the safety features for
parents, and as a result sales revenue may fall (A03).

Level Mark | Descriptor

[ No rewardable material.

Level 1 12 « Limited application of knowledge and understanding of business
concepts and issues to the business context (A02).

«  Attempts to deconstruct business information and/or issues,
finding limited connections between points (A03a).

Level 2 3-4 « Sound application of knowledge and understanding of business
concepts and issues to the business context although there may
be some inconsistencies (A02).

+  Deconstructs business information andjor issues, finding
interconnected points with chains of reasoning, although there
may be some logical inconsistencies (A03a).

Level 3 5-6 « Detailed application of knowledge and understanding of
business concepts and issues to the business context
throughout (A02).

+  Deconstructs business information andjor issues, finding
detailed interconnected points with logical chains of reasoning
(AO3a).
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‘Award 1 mark for identification of a benefit, plus 2 further marks
for explaining this benefit up to a total of 3 marks.

Employment law aims to remove discrimination in the workplace
(1) and therefore the employee will not be treated differently to
other workers (1). As a result, the employee is likely to enjoy
work more than if such laws did not exist (1).

Potential employees will be treated fairly when applying for a job
(1) which means they will be considered equally with other
applicants (1). As a result, the potential employee will be
encouraged to apply (1).

Accept any other appropriate response. Answers that list more
than one benefit with no explanation will be awarded a maximum
of 1 mark.

3)
AOla=1
AO1D:
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« Ordering in advance allows customers to spend less time
queuing in the shop as they will not need to wait for the
food to be prepared (A02).

«  As customers are not having to queue for as long as
before, the chance of getting negative TripAdvisor®
reviews, such as in Figure 2, is reduced (A02).

« The slow service appears to be the only negative aspect,
s0 by addressing this, the owners are helping to meet the
needs of their customers and will gain repeat purchase as
a result (AO3a).

« This improves the convenience for customers, who are
unhappy at the time it can take to gqueue to pay (AO3a).
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Level

Descriptor

No rewardable material.

Level 1

Limited application of knowledge and understanding of
business concepts and issues to the business context
(A02).

Attempts to deconstruct business information and/or
issues, finding limited connections between points (AO3a).

Level 2

Sound application of knowledge and understanding of
business concepts and issues to the business context
although there may be some inconsistencies (A02).
Deconstructs business information and/or issues, finding
interconnected points with chains of reasoning, although
there may be some logical inconsistencies (AO3a).

Level 3

Detailed application of knowledge and understanding of
business concepts and issues to the business context
throughout (A02).

Deconstructs business information andjor issues, finding
detailed interconnected points with logical chains of
reasoning (AO3a).
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«  Exposure to a very wide customer base, which may be
international as well as local (A02).

«  Ahigh profile on social media might mean that any
negative comments by customers are shared with a
wide network (AO2).

« This may lead to increased awareness of customers
and potentially higher sales of bikes (A03).

« This might damage the reputation of Frog Bikes. As it
is a smaller business than well-established rivals such
as Halfords, any negative publicity at its early stage
might be very damaging and put off potential
customers (AO3).

Level

Mark Descriptor

[) No rewardable material.

Level 1

1-2 .

Limited application of knowledge and understanding of business
concepts and issues to the business context (A02).

Attempts to deconstruct business information and/or issues,
finding limited connections between points (A03a).

Level 2

3-4 .

‘Sound application of knowledge and understanding of business
concepts and issues to the business context although there may
be some inconsistencies (AO2).

Deconstructs business information and/or issues, finding
interconnected points with chains of reasoning, although there
may be some logical inconsistencies (A03a).

Level 3

Detailed application of knowledge and understanding of
business concepts and issues to the business context
throughout (A02).

Deconstructs business information and/or issues, finding
detailed interconnected points with logical chains of reasoning
(AO3a).
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Question
number

Answer

‘Award 1 mark for identification of a benefit, plus 2 further marks
for explaining this benefit up to a total of 3 marks.

Social media is a cheap method of communicating (1) and as a
result the business may be able to reduce spending on other
forms of communication (1). As a result fixed costs may be
reduced (1).

Lots of potential customers use social media today (1), which
means the business will have access to a large potential market
(1). This may result in higher sales (1).

Accept any other appropriate response. Answers that list more
than one benefit with no explanation will be awarded a maximum
of 1 mark.
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Marks are awarded for discussion of at least two benefits for a )
business of using e-commerce. AO1b:
AO3a=
Costs are lower as there is less need for retail outlets (AO1b).
Increased reach of the business - can sell beyond the
immediate locality (AO1b).
«  This increases the potential profitability of the business as it
will not have to pay rent on shops and other premises (AO3a).
« This willlead to higher sales and therefore higher revenue.
providing costs do not increase by more, profits will increase
(AO3a).
Level Mark Descriptor
0 No rewardable material.

Level 1 12 « Demonstrates elements of knowledge and understanding of
business concepts and issues, with limited business terminology
used (AO1b).

« Attempts to deconstruct business information and/or issues,
finding limited connections between points (AO3a).

Level 2 3-4 « Demonstrates mostly accurate knowledge and understanding of
business concepts and issues, including appropriate use of
business terminology in places (AO1b).

«  Deconstructs business information and/or issues, finding
interconnected points with chains of reasoning, although there
may be some logical inconsistencies (AO3a).

Level 3 56 « Demonstrates accurate knowledge and understanding of

business concepts and issues throughout, including appropriate
use of business terminology (AO1b).

«  Deconstructs business information and/or issues, finding
detailed interconnected points with logical chains of reasoning
(AO3a).
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‘Award up to 2 marks for linked points outlining an impact of @)
changing consumer income on Good and Proper Tea. Award a A02

maximum of 1 mark if points are not linked.

If incomes are rising people will have more disposable income
(1). This will mean that luxuries, such as Good and Proper
Tea, are more likely to become popular and sales may
increase (1).

Falling incomes means people will have less disposable
income (1) and may resort to cheaper types of tea, rather
than higher quality products like Good and Proper Tea (1).

Do not accept impacts that would not be appropriate for a Good
and Proper Tea. For example, the demand for all foods will rise.
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« Buying its tea from cheaper suppliers will be a good option for
Good and Proper Tea because this will allow it to keep its
prices as low as possible in its competitive market (A02).

« Asa high quality, luxury product, Good and Proper Tea should
be able to charge higher prices for its tea without deterring its
market segments (A02).

« This means Good and Proper Tea could target a wider range of
customers and different market segments, rather than being a
high priced, café and product (A03a).

« The type of customer that buys expensive, gourmet tea, will
not be put off by an increase in price. They choose Good and
Proper Tea because of the quality and provenance of its
products (A03a).

« However, Good and Proper Tea needs to be aware that the
market for coffee shops and cafes is very competitive and it
must avoid becoming one of a similar type of retailer.
Changing suppliers to reduce costs may damage its reputation
(AO3b).

« However, Good and Proper Tea does need to pay some
attention to the market and cannot continually increase the
price of its tea. This risks putting off customers who might
otherwise have tried its teas and potentially become repeat
customers (AO3b).
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Level Mark Descriptor
[ No rewardable material.

Level 1 13 « Limited application of knowledge and understanding of business
concepts and issues to the business context (A02).

« Attempts to deconstruct business information and/or issues,
finding limited connections between points (AO3a).

« Makes a judgement, providing a simple justification based on
limited evaluation of business information and issues relevant to
the choice made (AO3b).

Level 2 =3 « Sound application of knowledge and understanding of business.
concepts and issues to the business context although there may
be some inconsistencies (AO2).

+ Deconstructs business information and/or issues, finding
interconnected points with chains of reasoning, although there
may be some logical inconsistencies (A03a).

« Makes a judgement, providing a justification based on sound
evaluation of business information and issues relevant to the
choice made (AO3b).

Level 3 7-9 + Detailed application of knowledge and understanding of

business concepts and issues to the business context
throughout (AO2).

Deconstructs business information and/or issues, finding
detailed interconnected points with logical chains of reasoning
(AO3a).

Makes a judgement, providing a clear justification based on a
thorough evaluation of business information and issues relevant
to the choice made (AO3b).
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Award 1 mark for identification of an impact, plus 2 further marks
for explaining this impact up to a total of 3 marks.

One benefit is lower costs (1) because a business pays a number
of different taxes (1). As a result, the business may achieve
higher profit, assuming sales remain constant (1).

Customers may have more disposable income due to lower taxes
(1), which means spending with small businesses may increase
(1). As a result of this the business may see an increase in
revenue (1).

Accept any other appropriate response. Answers that list more
than one impact with no explanation will be awarded a maximum
of 1 mark.





image27.jpeg
Question
number

Indicative content

« selling to foreign customers will mean POD Point may not
have to worry about the economic climate in the UK (A02).

« By reducing the costs of producing the charging kits, POD
Point may be able to charge lower prices (A02).

« This means POD Point could target a wider range of customers
and different market segments in foreign countries, rather
than focussing narrowly on its UK market (AO3a).

« Asa result, customers may be more likely to afford the
product, even at a time when incomes might be falling. By
marketing the benefits of electric cars, in terms of the lower
running costs, the business may in fact be able to use lower
incomes as an advantage (AO3a).

«  However, POD Point needs to be aware that the economic
climate in foreign countries can be just as unpredictable as in
the UK. Just because demand is currently strong in Norway,
this does not mean it will be so in the future. By relying on
such a strategy POD Point may face the same problems in the
future (AO3b).

«  However, POD Point may find it difficult to cut costs as it is a
hi-tech business and probably spends lots on research and
development. As a result, it cannot easily cut its main costs.
It may need to find another way to be competitive (AO3b).





image28.jpeg
Level Mark Descriptor
[ No rewardable material.

Level 1 1-3 «+ Limited application of knowledge and understanding of business
concepts and issues to the business context (A02).

« Attempts to deconstruct business information and/or issues,
finding limited connections between points (AO3a).

« Makes a judgement, providing a simple justification based on
limited evaluation of business information and issues relevant to
the choice made (AO3b).

Level 2 46 + Sound application of knowledge and understanding of business
concepts and issues to the business context although there may
be some inconsistencies (AO2).

«  Deconstructs business information and/or issues, finding
interconnected points with chains of reasoning, although there
may be some logical inconsistencies (AO3a).

«  Makes a judgement, providing a justification based on sound
evaluation of business information and issues relevant to the
choice made (AO3b).

Level 3 79 + Detailed application of knowledge and understanding of

business concepts and issues to the business context
throughout (A02).

«  Deconstructs business information and/or issues, finding
detailed interconnected points with logical chains of reasoning
(AO3a).

«  Makes a judgement, providing a clear justification based on a
thorough evaluation of business information and issues relevant
to the choice made (AO3b).
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